SITc0TMNdd
1016 [40"]
il o = e
@ @ |Ip
- 1072 [42.20"]
@ 866 [34.09”]
S |
O 4 Qﬂ - [og ©
d m o — = | 1 Wb@ =
o |l : - | o
H I 294 [11.57"] I H
| |
| |
| |
{ | H Description:
O *’*’+’*’* *’*’+’*’* © i O
@ | | # o® g e Design reference standard: GB/T 35753-2017;
[= 0 ® o e Corrosion resistance reference: ASTM-B1 17, 500 hours;
5 o Surface powder-coated gray (RAL7035), thickness =85um;
13 01-65011-00  shockabsorberpad 1. 97-1. 97-0. 20 4 4 ¢ Air conditioner foot position range:
19 54-30308-00 Siless stecl 1/8 A Length: 294mm--866mm [11.57"--34.09"];
_ _ Width: 279mm--579mm [10.98"--22.80"];
L1 9474030800 Saiplesssteel spring washer 3/8 4 5. Design rated load capacity: 453.6Kg [10001b];
10 54-50308-00 Stainless steel flat washer 3/8-0.83-0. 08 3 6. Units not specified are in metric;
9 | 54-60308-11 Stainless steel bolt 3/8-16-1. 5 4 7. The blue graphics are for dimension marking only.
8 54—30516—01 Stainless steel cap nut 5/16 20
I 54—40516—00 Stainless steel spring washer 5 / 16 20
6 54_50516_00 Stainless steel flat washer 5/16_0 63_0 04 24 A bl Shl Zun Metal
SSEMm
5 54-60516-34 il selbol 5/16-18-3/4 4 !
4 1 03-66192-01 Mounting bracket §=2.0 Q235 steel plate |~ 2 | M T ChengeFileNumber - signawe | Date Air Conditioner
3 03-66191-01 Longitudinal beam (width) §=2.0 Q235 steel plate = 2 Mo Process Stage Marking ZS; ZVth; Scale Mounting Bracket
2 03-66190-01 Longitudinal beam (Length) &=2. 0 Q239 steel plate 9 | Drating Standardization e g64 g
1 66—60618—00 Column assembly Welded component 4 Proofreading Virsion 2 . . B R K 4 O 2 4 1 8
Part Number Name Description Number | Revie Approva Total Page:1  Page:1



AutoCAD SHX Text
1、设计参考标准：GB/T 35753-2017； 2、耐腐蚀参考ASTM-B117 500小时； 3、表面喷塑灰色（RAL7035)， 85um； 4、空调底脚位置范围： 

AutoCAD SHX Text
1072 [42.20"]

AutoCAD SHX Text
866 [34.09"]

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
6/7/8

AutoCAD SHX Text
5/6/7/8

AutoCAD SHX Text
9/10/11/12/13


	图纸和视图
	模型




